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clear all
close all

Phi_3dB = 5 * pi/180 ;

RO = 8e3;
f = 6e9;
lam = 3e8/f;

X_max = RO *tan(Phi_3dB/2);
x = -X max:2*X_max/99:X_max;

R = RO *(1+x.”2/R0"2).7(0.5);
R_est = RO+x.72/2/RO;

h = figure;

plot(x,R/1e3, 'k-’, 'LineWidth’,1);

hold

plot(x,R_est/1le3, 'k.’, 'LineWidth’,4) ;

hold;

grid on

set (gca, 'FontName’, ’Arial’, ’'FontSize’,14, 'FontWeight’, 'Bold
")

legend(’actual radial distance’, 'estimated radial distance’)
xlabel ('synthetic Aperture [m]’)

yvlabel (‘distance [km] ')

axis([min(x) max(x) R0/1le3-.25 R0O/le3+.25])

h = figure;plot(x, (R-R_est)/lam, ‘k’, 'LineWidth’,2) ;

grid on

set (gca, 'FontName’, ’Arial’, ’'FontSize’,14, 'FontWeight’, 'Bold
Y3

xlabel ('synthetic Aperture [m]’)

yvlabel ('range error value [\lambda]’)

axis([min(x) max(x) -1 1])



